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> with(LinearAlgebra):
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[ > v1 := Vector([x, y);
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> v2 := (Vector[row])([x, y, z]);
HEOEMTEHcolumn, ElisDEEREFrow.

v2:=[xy2] (1.1.2)
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[> AO := Matrix(2, 3, [[1, 2, 3], [4, 5, 6]1);
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AO:= 456 (1.2.1)
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> E := Matrix(3, 3, shape = identity);
shapelcld, ®#R(symmetric), 3K (antisymmetric)/x E MV 3.

100
E=/010 (1.2.2)
001
[k <ES, URRNYZR RS DEHR
> A3 :=[[1, 2], [3, 4]I:
A4 := convert(A3, Matrix);
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Al = 34 (1.2.3)
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> v2[1] := zz; print(v2);
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[z y 2] (1.3.1)
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> E[1, 2] :=x;
shape TEZEH L 121T5Id, BEROEICHIINS .
Error, invalid assignment of non-zero to identity off-diagonal
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> E2 := O*E+E:

E2[1, 2] := x;
print(E2);
E2]v2:=x
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> A6 := Matrix(3, 3, shape = antisymmetric):
A6[1, 2] := b: A6I[1, 3] :=c: A6[2, 3] :=d:
[ > print(A6);
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